. Vr —
\ -
3 - eewem

- e

(B i

g

LIRRR v
R B

'I'/lJ
|

N4 LR

I

ol B

—
-k

-

il

T "_]
=N
I A

#b-
=N
Fuiil

T2

S
| -\:

N




The Best Ways to Pass New TOEFL

B FEARE L) 2 B
T %5 M
BEH K B O EIE K
% L M FKE KEHE



BHZERERE (C1P) ¥R

BRFHBRIZ /D% . -KE: REXFH R,
1999. 10
ISBN 7-5618-1215-9

R 1. D B EE-EEUT-HESHVH
N.H31

FERAEE CIP BB F (1999) 58 34403 5

PR T

BIRM

KRBT R 92 SRMA¥ A (4. 300072)
RITE, 022—27403647 BRMEE, 022-27402742
RETERES =R

FHEBERXRRRITH

850mm X 1168mm 1/32

20. 625

537 F

199948 A 11K

19948 A 1K

1—5 000

25. 00 3¢

a

HDZDSINDHEDEEEE
SHREXFBRRMINBEE>R



RERER

ABEEROHRT 1995 4F 8 A LIKMICHEFBR, 63
SERLRABHAREE . FEERESEEEENEALR
TR T B R AR, K R 10 FICARARHE R, OF B A RO R
FWT A RS0, iR E RAETUR, UHEEES . HERAILHE
WAL EESREBEAR AR R R PEEEOE— RS,

# 133E A T4648 (TOEFL)F & BF R 4 (GRE) % 4 JiFEK
FHREPTMEZEMRKEBRBEIT AR ANEEEIE.



TOEFL Bl Test of English as a Foreign Language # i #,
T EH R R UAIEE MSEIBEH R 7, REE THRIHEF R
% (ETS: Educational Testing Service, Princeton, New Jersey,
the U.S. AN ED, AR EFHELEMEHEVELEFERWA
RArig it i —f ERXBEBKTHRK,

H 1995 4F 8 AP JLRMWBIAE THRANER. BiEER
B Wt 1 4> (Listening Comprehension) BU i T JE 3k Part A
g 20 AN EEA], T EH 30 AR XIS A T By Part A, 3t 30 38
AR TE A X P 1E B FEMREE s Part B 2 2 B K M xHiE L
8 T/ ;Part C (1 3 RIRE S VLA AL 12 8B, X FBAINT
TIPSR 50 BB, B FEWS B HEIE B T4 (Structure
and Written Expression) @& A5, {148 & 40 8 5, WA % & ¥
WERIES BB TS . RIEE MBS (Reading Compre-
hension) By R3] 60 1 H. A F 50 8 8, 4 3710 34 B A B4
B R, WA X RS AR B A B R T, X, —
HRIEEFTHAZERE 140 H, LS BET AL,

RATAEBIRT 1995 47 8 H UM SIS 5 M LS, 3+
R E A MRS R R B L % X AR BTGB AL
HZ B, IS R RBIEER A, A Sl

EXEBRELRT.EEH SHELEMEHEZELTFTL
DEBRENEESEBSHMBEMRHL T TRENES: &
B AEEXNABRTT RS, ARRNFRE OB, BF
EEBFEA, AR R EHR 2 A R e EIsE,

0 %
1999 4F 5 A F REBSMNE iB%



H =

TOEFL Model Test 1  ceercrecsscecciscssntsccasssaniess (1)
TOEFL Model Test 2 seccecsstccrccscacccscmcccescoeness (55)
TOEFL Model Test 3 +esseeeerssscrenessssnnseencenss (105)
TOEFL Model Test 4 +rereesessecscrssessanseceascense (15])
TOEFL Model Test 5 serrerescsseatsrencentseniccncses (202)
TOEFL Model Test 6 ccosescceccnscconcscatccsiocnnncs (250)
TOEFL Model Test 7 cevreeseeresccisasercncecicnnnse (304)
TOEFL Model Test 8 «reteeservsearrecacciaseniccanaes (355)
TOEFL Model Test 9 ccerccescasccstisectssccensconasses (411
TOEFL Model Test 10 sseteeerevscosecsienncesiesanses (461)
Bﬁi-—‘jﬁﬁ*ﬁ%ﬁtﬁﬁhﬂm eresssariianscicinaienaress (515)
MR OB S EERF LI oeevrenrens (599)
% =.TOEFL BITEAT T oveveeerensrreeieniccnnens (612)
BRI FEABT AE CTWEDIEBL wreerreveseesesseesenne (614)
Bif 3% .28 F)f%@%kﬁﬁ%ﬁﬂli seeree (626)
B R 7S, 45 Bf%fét?%llﬂlﬁﬁ 1%/9‘3%@7(%%1@1&%

- (638)



TOEFL Model Test 1

Section 1
Listening Comprehension 1

Time: 35 minutes

In this section of the test, you will have an opportunity to
demonstrate your ability to understand conversations and talks in
English. There are three parts to this section with special direc-
tions for each part. Answer all the questions on the basis of what
is stated or implied by the speakers in this test. Do not take
notes or write in your test book at ;«my time. Do not turn the

pages until you are told to do so.

Part A

Directions: In Part A, you will hear short conversations between
two people. After each conversation, you will hear a question
about the conversation. The conversations and questions will not
be repeated. After you hear a question, read the four possible
answers in your test book and choose the best answer. Then, on
your answer sheet, find the number of the question and fill in the
space that corresponds to the letter of the answer you have cho-
sen.

Here is an example.



On the recording, you hear: Sample Answer

® ® © ©

In your test book, you read:

(A) He doesn’t like the painting either.
(B) He doesn’t know how to paint.

(C) He doesn’t have any paintings.

(D) He doesn’t know what to do.

You learn from the conversation that neither the man nor the

woman likes the painting. The best answer to the question“What

does the man mean?”is (A), “He doesn’t like the painting

either”. Therefore, the correct choice is(A).

1.

(A) She doesn’t know anything about it.
(B) A good name hasn’t been found for it.
(C) They decided to postpone building it.
(D) It hasn’t been designed yet.

. (A) Stay home to prepare for his exams.

(B) Attend the concert after his exams are finished.
(C) Ask the woman to study with him.

(D) Go to the concert with the woman.

. (A) He’s surprised he couldn’t find the hotel.

(B) He often gets lost.

(C) He doesn’t know where the hotel is.

(D) He’d rather go to another hotel.

(A) He went mountain climbing last year.

(B) He’s climbed mountains in many parts of the world.
(C) He was the last person to go.

(D) He isn’t interested in going.

(A) She gave one or two parties.

2



6.

~

7.

8.

9.

10.

11.

12.

(B) She came to two parties.
(C) She comes to most of their parties.
(D) She missed most of their parties.
(A) Finish the game. _ (B) Play harder next time.
(C) Reconsider his decision. (D) Stop complaining.’ .
(A) She doesn’t like to go shopping.
(B) She went shopping yesterday.
(C)- She doesn’t live near the shops.
(D) She prefers shopping to studying.
(A) Take a lot of money.
(B) Go to a different restaurant.
(C) Ask someone else to go with her.
(D) Wear different clothes.
(A) Turn up the volume. (B) Stop talking so much.
(C) Play the music more softly. (D) Play different music.
(A) He decided not to attend summer school.
(B) He may have difficulty working and studying at the same
time.
(C) He’s working hard so that he can afford to go to New
York.
(D) He’s teaching school this summer.
(A) The clothes don’t look clean to him.
(B) He doesn’t intend to get the clothes.
{C) He can pick out his own clothes.
(D) The woman should stop staring at his clothes.
(A) The woman should get another job.
(B) He won’t have to wait much longer.

(C) The woman was mistaken.



13.

14.

15.

16.

17.

18.

19.

(D)He was waiting in the wrong place.

(A) Rewrite the paper.

(B) Ask the woman to do some typing.

(C) Read the newspaper again.

(D) Check the paper for mistakes.

(A) They’re being mailed to his old address.

(B) They’re being sent to the woman’s address.

(C) They’re being forwarded to his apartment.

(D) They’re being held at the post office.

(A) She might not be able to attend the ceremony.
(B) She’s not going to graduate this semester.

(C) She has only a week to complete the work.

(D) She hasn’t been able to find a job.

(A) A salary cut. (B) A real estate bargain.
(C) A rent increase. (D) A vacation trip.
(A) He doesn’t know how to turn the calculator on.
(B) He lost the woman’s calculator.

(C) He broke something the woman lent him.
(D) He can’t help the woman tonight.

(A) The transportation for the trip is free.

(B) The class didn’t enjoy going on the field trip.
(C) Some people may not go on the trip.

(D) Everyone in the class has paid the fee.

(A) The train is always late.

(B) She needs to check the train schedule.

(C) They are going to be delayed again.

(D) They need to decide on a schedule.

20. (A) The plans are being drawn up.

4



21.

22.

23.

24.

25.

26.

27.

(B) The construction was finished on time.

(C) The library is closed for repairs.

(D) The addition will be completed soon.

(A) Ask Joan to come to the meeting before lunch.
(B) Tell Joan about the meeting at lunch.

(C) Ask Joan to meet him for lunch.

(D) Cancel the meeting with Joan.

(A) It’s interesting. (B) It’s easier than he expected.
(C) It’s too crowded. (D) It’s quite difficult.
(A) She wasn’t able to organize it.

(B) Its location has been changed.

(C) Tt has been rescheduled.

(D) She doesn’t know anything about it.

(A) The modern art prints are too expensive.

(B) He really appreciates the woman’s gift.

(C) He hopes the woman likes modern art.

(D) People who enjoy modern art would like the prints.

(A) He has taken extra courses before.

(B) He won’t mind the extra work.

(C) He’s making a bad decision.

(D) He should be graduating this term.

(A) Watch the clock carefully during the final exam.
(B) Pick up their papers on the twelfth.

(C) Finish their assignment early.

(D) Discuss their paper topics after class.

(A) He spoke to a well —known expert on inflation.
(B) He didn’t have time to prepare for the discussion.

(C) He doesn’t know when the group will finish.



(D) He expected the discussion to be shorter.
28. (A) He’s probably nearby.
(B) He might be playing tennis right now.
(C) He broke his racket.
(D) He should pick up his things.
29. (A) She doesn’t need an umbrella.
(B) She doesn’t plan to stay outside long.
(C) She’ll share her umbrella with the man.
(D) She left her umbrella in the car.
30. (A) The test was harder than he had anticipated.
(B) He never does well in biology.
(C) He was lucky to pass the test.

(D) Professor Morrison is known for giving hard tests.
Part B

Directions : In this part of the test, you will hear longer conver-
sations. After each conversation, you will hear several ques-
tions. The conversations and questions will not be repeated.
After you hear a question, read the four possible answers in your
test book and choose the best answer. Then, on your answer
sheet, find the number of the question and fill in the space that
corresponds to the letter of the answer you have chosen.
Remember, you are not allowed to take notes or write in your
test book.
31. (A) To find out if the book she ordered is in.

(B) To ask him to attend a Student Federation meeting.

(C) To get his schedule of classes for next semester.

(D) To see if he has time to welcome new students.



32.

33.

34.

35.

36.

37.

38.

(A) Many of them work full-time.

(B) They usually arrive on the weekend.

(C) They have volunteered for the orientation.
(D) They will need new textbooks.

(A) Take Ruth’s place as a tour guide.

(B) Ask Ken if he will be at the orientation.

(C) Leave work early if he can.

(D) Help out when he has time.

(A) Orientation will have to start sooner.

(B) The bookstore will place its orders earlier.
(C) Ken will call Tim about the orientation.

(D) The Student Federation will meet on Fridays.
(A) The election for senator. +

(B) The election for treasurer.

(C) The election for secretary.

(D) The election for president.

(A) They’re competing against each other in an election.
(B) The man is writing the woman’s speech.

(C) The man is interviewing the woman.

(D) The woman is planning the man’s campaign. -
(A) Make posters. (B) Write a speech.

(C) Answer questions. (D) Study chemistry.
(A) Compare their lecture notes.

(B) Review the man’s talk,

(C) Prepare questions to ask candidates.

(D) Vote in the school election.



Part C

Directions: In this part of the test, you will hear several short
talks. After each talk, you will hear some questions. The talks
and the questions will not be repeated.

After you hear a question, read the four possible answers in your
test book and choose the best answer. Then, on your answer
sheet, find the number of the question and fill in the space that
corresponds to the letter of the answer you have chosen.

Here is an example.

On the recording, you hear.

Now listen to a sample question. Sample Answer

® ® ® ©

In your test book, you read:
(A) To demonstrate the latest use of computer graphics.
(B) To discuss the possibility of an economic depression.
(C) To explain the workings of the brain.
(D) To dramatize a famous mystery story.
The best answer to the question“What is the main purpose of the
program?”is (C), “To explain the workings of the brain.”

Therefore, the correct choice is(C).

Now listen to another sample question, Sample Answer

® ® © @

In your test book, you read:

(A) Tt is required of all science majors.

(B) It will never be shown again.

(C) It can help viewers improve their memory skills.

(D) It will help with course work.



The best answer to the question“Why does the speaker recom-

mend watching the program?”is (D), “It will help with course

work. ”Therefore, the correct choice is (D) Remember, you are

not allowed to take notes or write in your test book.

39.

40.

4].

42.

43.

44.

(A) The role of the print media.

(B) The relationships between different media.

(C) Television’s effect on the movie industry.

(D) Radio news as a substitute for newspapers.

(A) People who listen to the radio also buy newspapers.
(B) Many newspaper reporters also work in the radio indus-

try.

* (C) Radio is a substitute for newspapers in people’s homes.

(D) Newspapers discourage people from listening to the ra-
dio.

(A) Television had no effect on movie attendance.

(B) Old motion pictures were often broadcast on television.

(C) Movie attendance increased due to advertising on televi-
sion.

(D) Motion picture popularity declined.

(A) To illustrate another effect of television.

(B) To provide an example of something motion pictures
can’t present. _

(C) To demonstrate the importance of televised sports.

(D) To explain why television replaced radio broadcasting.

(A) Voluntary napping. (B) Excessive sleepiness.

(C) Difficulty falling asleep. (D) Frequent nightmares.

(A) Most are easily cured.

(B) Most are teenagers.



45.

46.

47.

48.

49.

50.

(C) Most are insomniacs.

(D) Most suffer from hypersomnia.

(A) After a person turns fifty. (B) In a person’s teens.

(C) During early childhood. (D) In a person’s twenties.

(A) Sleep eight hours a night.

(B) Avoid social situations.

(C) Take naps during the day.

(D) Stop taking certain drugs.

(A) A piece of eq.uipment.

(B) The layout of the laboratory.

(C) The workbook for the laboratory course.

(D) A laboratory éxperiment.

(A) A great deal of equipment is available.

(B) Homework must be handed in on time.

(C) The students must follow all instructions exactly.

(D) The students will be able to make choices about the lab-
oratory work.

(A) Students are not required to do the activities.

(B) The activities take less time.

(C) The activities are to be done during class.

(D) Few instructions are given for the activities.

(A) When the students have done good work.

(B) After the first laboratory session.

(C) When the students need to be motivated.

(D) At the beginning of the semester.

10



Section 2
Structure and Written Expression 2

. Time: 25 minutes

This section is designed to measure your ability to recognize lan-
guage that is appropriate for standard written English. There are
two types of questions in this section, with special directions for

each type.
Structure

Directions: Questions 1—15 are incomplete sentences. Beneath
each sentence you will see four words or phrases, marked (A),
(B), (C), and (D). Choose the one word or phrase that best
completes the sentence. Then, on your answer sheet, find the
number of the question and fill in the space that corresponds to
the letter of the answer you have chosen.

Sample Answer

® @ © ©

Geysers have often been compared to volcanoes. . .

Example 1

they both emit hot liquids from below the Earth’s surface.
(A) due to (B) because (C) in spite of (D) regardless of
The sentence should read ,“Geysers have often been compared to
volcanoes because they both emit hot liquids from below the
Earth’s surface. »Therefore, you should choose(B).
Example I Sample Answer

® ® © @

During the early period of ocean navigation. ..
any need for sophisticated instruments and techniques.
11



